
Last update 13/12/2004

40.0160.12 S6-sst 1200mm 3/8Bsp Mx1/4Npt F

Pos. P/N Description Q.ty K1 K2 K3 K4 Pos. P/N Description Q.ty K1 K2 K3 K4
1 40.0161.24 S6 plas.housing kit 2 1
2 16.3075.51 Sst 3,5 x 18 mm screw 12 50
3 30.5885.31 Brass Frame 2 10
4 30.5886.56 Sst pipe 1200mm 3/8MM straight 1 3
5 30.5883.51 1/4 Npt F nozzle fitting 1 5
6 16.2230.00 Z.pl.M 10 x 8 mm dowel 1 25

7 11.4627.00 Z.pl.black M 10 nut 2 25
8 14.3799.00 Washer 10 x 21 mm 1 25
9 41.0409.84 Plastic handle 1 5

10 16.2030.00 Z.pl.M 10 x 30 mm screw 1 25
11 41.0411.84 Handle plug 1 10


